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QUESTION 1

A clientns computer is unable to access any network resources. Which of the following utlites can a technician use to
determine the IP address of the clientns machine? 

A. ipconfg 

B. nslookup 

C. dig 

D. tracert 

Correct Answer: A 

 

QUESTION 2

Which of the following network topologies would be separated into two networks if a client in the middle is removed or
the cable is cut? 

A. Mesh 

B. Ring 

C. Bus 

D. Star 

Correct Answer: C 

 

QUESTION 3

The protocols that use a three way handshake to transfer informaton can be found within which layer of the OSI model? 

A. Layer 2 

B. Layer 3 

C. Layer 4 

D. Layer 5 

Correct Answer: C 

 

QUESTION 4

A network administrator is reviewing logs and notces that a device with a public IP address is trying to access the web
server RDP port. Which of the following tools can be used to resolve the domain of the public IP address? 
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A. arp 

B. nslookup 

C. ipconfg 

D. netstat 

Correct Answer: B 

 

QUESTION 5

MIMO technology in the 802.11n standard provides for which of the following benefts? 

A. Channel expansion 

B. Gigabit wireless bandwidth 

C. Multpath support 

D. Channel bonding 

Correct Answer: C 
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